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The figures in the margin indicate full marks
for the questions.

Part A (I -9M)

Q. No. 1 (a-f) carries 1 mark each 1x6= 6
| Q. No. 2 - 7 carries 2 marks each 2x6 = 12
Q. No. 8 -12 carries 4 marks each | 4x5 = 20

Q. No. 13 & 14 carries 6 marks each 6x2 =12

: : Total = 50

Part B (& -=)

Q. No. 15 (a - f) carries 1 mark each 1x6= 6

Q. No. 16 - 21 carries 2 marks each 2x6 = 12

| Q. No. 22 -26 carries 4 marks each 4x5 = 20
Q. MO. 27 & 28 carries 6 marks eacl ; . 6x2=12
Total = 50

Total (Part A & B): 50 +50 =100
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PART-A /F-Sid ' 6. What is meant by inelastic supply ? Draw an inelastic supply curve.
— = \ | .

1+1=2
1 (a) Define the term scarcity as used in economics. ! TiZfozeFE @ F 2 qore SRSZE @l @l ST 1 |
ST e TR AR frat | | 7. Mention two differences between monopoly and perfectly competitive
i ket. / o
What 1 ortunity cost? mar

i ?Im: ;;ngp‘? ; ] GFHHA TG A A efSrafierETs e 7o Ay S 4|
(c) If marginal utility of a commodity is higher than the price, then ’*;8. Distinguish between change in quantity demanded and change in
| consumer will buy more of the commodity. demand. 7

(Write true or fifl -~ wifgni ~AfRS1eR ARTS Wi piftn ARasT wom =ik ot |
T TSl T & RS 7, (0% SASE : :
M «of T 2AfeF © T’ SRIeAR W\?@ i Q?t’?%'\gc; - 9.  Mention the relationship between total utility and marginal utility. 4
TR e AR i R I Sl I e SAmIHeR Tew TiE S 31|
with perfectly inelastic supply ?

10.  What is variable cost? Why the average variable cost (AVC) curve

- . | becomes U shaped ? 1+3=4
QIR €6l TR GRS T AR eroid 5 2 ; P >
e oA | Ww%?%WaWM(AVC)WUW?

(d) What will be the effect of price change on supply of a commod

(¢) How will an increase in the price of inputs shift the supply curvé

: 11.  The production function of a firm is Q = 2% k2.
ot TE-gIaCa AN (RIS (R ZRI Al SR 2

() What is shut-down price ? ' ‘
e v < 2 |

Find the amount required of factor K if the firm wants to produce 200
units with available 16 units of factor L .

(Q = Output, K=Capital, L = Labour) | 4

G A OV CeA FH0! ZeT Q =21 K2 | ef B eipd 16 Sia

L CHMAT oA 200 G966 Ty OSSR [[GIRcE S @[
K-Soiiwie #AfRaiel stomt 311 (Q = B sl AR, K = Jeie, L= =) |

2. Why the production possibility curve slopes downward from left to righ!

Testv TRl @3l [T ACTER A mﬁaﬁﬁqamw ?
2% Give two reasons of a leftward shift in the demand curve. -

OISR T 257 I S
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12.  Mention the effects of the following on the supply of a commodity.

4. The price elasticity of demand of a commodity is 4 and the percents - 2+2=4
change in price is 8. Find the percentage change in the quanﬂ] (i)  Fall in the price of factors.
demanded. B B | (i) Rise in the per unit tax.
<Ol TR SR v oZPTel 4 WIS R 9T AfReey 8. i =t

3 Ol T @IS 8T wee Biamdl 9 T el BeEd 4 |
AAfRTST sieit 1| | .

% R G) CAMITTIRI WS 2 |
5. Wha@t is fix%d fac;f)r 2 Gi:‘%‘;?‘: example. 1+]'} (i) dfc = wre 39 Jim |
e Tomis &5 2 o TarRd 1T |
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13. Explain the Law of Variable Proportion with diagram. | : PART-B / 4-9(

Ba FFTe oRaeie SaAme [EC 0 <t |
% ' 15 (@) In what circumstances, the GDP of an economy can be equal to

Or/ @124t et GNP 1

" The total fixed cost of a firm is Rs. 200. Fill in the blanks of the followit & orrgi® @3 o GDP, GNP 7l 29 =it 2

tables | (b) What is transfer payment ? 1
@3 efSDT o 7T AR 200 5 | w51 Sifeii<E =7l 1 | s e
Output TC AC AVC MC . (0 What is voluntary unemployment ? 1
ol
i T R . 5 | CFRIPo @l 5 2
2 460 — — _ (d) What is Break-Even income ? 1
3 = 250 = — | . MESISO RS ERR: '
4 = ke fop 230 | :
() What is the full form of GST ? 1
! _
14. Explain the process of Long-run Equilibrium Price determination | GST3 =54 =={eo! . 2
perfectly competitive industry with diagram. ;
E (/) What is zero primary deficit ? 1
oiof SSEErORERs SOl TEEEH SIRw 7™ FdRem afFst fag e < elfelfis =i & o |
BIRNESEIN !
Or/ 31 |6 Mention two subject matters of Macroeconomics. 2
Show the effects of change in demand of a commodity on equilibriu%, el weiear 7o) RREae Sord < |
price, if | | ' 3+3

: 7. Mention any two types- of leakages found in the Circular Flow of Income.
(i) the supply of the commodity is perfectly elastic | ' o)

| Wﬁam@@mmwﬁﬁwm@@mw

(ii) the supply of the commodity is perfectly inelastic. [

(i) TAGH @ 2ff ZoR7Re multiplier and MPC. _ 141=2
(i) TUGR @S 7 SR ' REGN edw & 2 R ede e MPC-R o™ 2Rt &1
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<o TSI T e DA AR SR GrRi AR — _ 8. What is investment multiplier ? Write the relationship between investment
|
I
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19.

20.

217

@A 751 70 I S 4|

Mention two differences between revenue receipts and capital receipt|

I 2ife) S e i e 707 Ay &3]

' B
|
Mention the fwo primary functions of money. ' 7
l
i
|
|
|
r

State two sources of supply of foreign currency.

Y
@R JUE QAR 707 O T | |

i
|
The value of MPC of an economy is 0-4. What amount of new invesml
is required to generate new income -of Rs. 500 crore in the economy

G2 GTfe® MPC 3 Wi 0-4 | SEio4TS wgeces 500 o 5t i azﬂf‘@:‘
AR F AR Toa REER ey 29 2 |
Explain any two f1scal measures to solve the problems of excess deman i
2+ |

ngﬁﬁﬁwmwwmaﬁmm ﬁmfjﬁ)‘mi
IO 1 |

an economy.

|
|
d
Mention four factors causing disequilibrium in Balance of Paymeng l{
country. : i

|

QAT (e AR TSI SIS HR w4t 516! SAmE S T |

25. Write down four differences between Direct Tax and Indirect Tax. {
ooy 9 o ST S TG BIRG sliefy e | ’l

26. What is Budget Deficit ? What are the three types of Budgetary Defni
<fCes 1T 2 T Wb AT e R s 2
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Describe the Circular Flow of Income in a Three Sector Economy. 6
G foHol AeTE ST ST b ig 2Ry [agd
Or/ er=/qr
Fégl;)in the Expendi.ture Method of calculating Gross Domestic Product
: 6

3o A1 A SR A 2wOCe! WG |

Explain the process of credit creation by commercial banks. 6
Jifdfers @ A4 FR afFF=Ieet i

Or/ S
Describe the Quantitative methods adopted by the Central Bank to control
credit created by commercial banks. - 6

Jififers @ IR Tl W I AE R QTS & 91 AN AR
S 4 |
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